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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (), (Y), (¥) or (¢£) that best completes each sentence.

then mark the correct choice on your answer sheet.

R the problem, he would not have committed those silly mistakes.(iranarze.ir)

V) Had Terry understood Y) Whether Terry Understood

) If Terry has understood t) Should Terry understood

Ab- while there are many hypotheses about Atlantis, but the vast majority of scientists............cc.c..... Atlantis never existed.

V) conclude that is Y) conclude that ¥) That conclude f) they conclude that
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A#—among charity organizations existing currently,..........ccccvvvieiinnnnn. Takes its mission so seriously that it sees itself as a
military unit on duty. (iranarze.ir)

V) that one there is Y) it is one that it Y) there is one that t) that there is one it

AY-positive thinking can be helpful,butwhen .............c.coccviinnnaalld by a realistic assessment of a person’s situation, it can

also be harmful. (iranarze.ir)

V) it has not balanced Y) not balanced Y) it did not balanced f) not balancing

AA-Jeremy put in extra hours this afternoonto ...........ccevevnennn for his late arrival to work this morning.(iranarze.ir)
V) collaborate Y) alleviate Y) accelerate f) compensate

Ad- 1 would not have been able to.........ccccceeeerurenrurnnne my academic goals without that support and guidance of my

professors. (iranarze.ir)

V) attain Y) assist Y) assign f)annex

q.-since Tom never wears shoes, it Was .......c..cccvvienrinnninnnnns that he would get a piece of glass in his foot.(iranarze.ir)
V) Fashionable Y) profitable Y) capable f) inevitable

Q)-asaresultof .....c.ccviiiiiiiiiiinnnan ,an item that used to cost eighty cents now cost on dollar and fifty cents.

V) instruction Y) inhibition ) inflation f) inspection

PART B: READING COMPREHENSION

Directions: read the following passage and select the choice (), (Y), (Y) or (£) that best answers each question. then mark

the correct choice on your answer sheet.

Karl Friedrich Benz was a mechanical engineer who designed and built the world's first practical automobile to be powered
by an internal-combustion engine.in YAAY he founded Benz & Co. in

Mannheim to build stationary internal-combustion engines, but he was completely dedicated to the proposition that the
internal-combustion engine Would supersede the horse and revolutionize the

world’s transportation. He persisted in his effort to build a gasoline fueled vehicle in the face of many obstacles, including
lack of money to the point of poverty and the bitter objections of his associates, who considered him in competent.

Benz ran his first car, a three wheeler powered by a two-cycle, one-cylinder engine, on a happy and triumphant day early in
VAAo. He circled a cinder track beside his small factory, his workmen running

beside the car, his wife running too, clapping her hands; the little machine made four circuits of the track, stalling only twice
before a broken chain stopped it. Even Max Rose, Benz's skeptical partner, whose money had made the car possible,
conceded that he was mildly impressed; but he remained convinced to the end of his association with Benz that there was no
future in the horseless carriage.

The Original Benz three-wheeled vehicle, the Motorwagen, is now preserved in Munich.

Although it first ran early in YAA9, its design was not patented until Jan. Y4, YAA1.

ayY-what is the passage mainly about? (iranarze.ir)
\) Karl Benz's effort to make the first automobile. v) Karl Benz's personal life

v) Karl Benz's talent in engineering f) Karl Benz's factory in Mannheim.
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4Y¥-What does the word “Supersede” in paragraph Y mean?(iranarze.ir)

V) rival Y) improve ) replace t) defeat

a4f¥-Which of the following statement about Karl Benz can be inferred from the passage? (iranarze.ir)
V) No one ever objected to him Y) He had no financial difficulty.

) His partners believed in him ¢) He was approved by his wife.

44-Which of the Following is Not true about Benz's Motorwagen? (iranarze.ir)

V) It was patented about a year after it first ran. Y) It was bought by Max Rose.

) It first ran near his factory t) It had a one-cylinder engine.

PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (), (Y), (¥) or (£) that best completes each sentence.

then mark the correct choice on your answer sheet.

YP=noo0ooooonooonoooanoocaaoas that only specialists can fathom its complexities.(iranarze.ir)
V)Very difficult science has become Y) too difficult science has become
v)so difficult has science become ¥) such a difficult has science become

4Y- Geothermal energy---and in particular, the price of it-—- does not depend on the world’s economic and political

situation as .......cccceeeenenne fossil fuels do. (iranarze.ir)
V) strongly as Y) stronger than ) strong as ¥) strongly than
4A- one of the features of the Zika virus posing difficulties for its diagnostics is that only one out of four..........c.cccceeureureree. By an

infection-transmitting mosquito develops any symptoms. (iranarze.ir)
\) people who bitten Y) people bitten Y) people are bitten f) whose people bitten
44- the most commondata..........cceeevevnnennnn. official statistics, which are collected as part of the operation of criminal

justice agencies. (iranarze.ir)

V) To be used in criminological research that are Y) which are used in criminological research that

v) Used in criminological research are ¢) are used in criminological research that

\++—the ending of the movie was totally .............ccccevunennen. .1 guess we have to decide for ourselves what really happened.
) Miraculous Y) prosperous Y) Hazardous f) ambiguous

y+\-emma endured a greatdeal of ............ccceuentnnt when her peers made fun of her in the office.(iranarze.ir)

) Contamination Y) humiliation v) Acquisition t) stimulation

y+Y-when studying at school, it is essential to ..........cccevieviinnnncnnn. between what information is important and what

information is not. (iranarze.ir)
V) Cooperate Y) terminate ) Accumulate t) discriminate

\+¥-the mediais goingto .................. the killer as a victim of society’s avoidance of mental health issues.(iranarze.ir)
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\) Portray Y) assimilate v) Broaden t) disperse
Part B: reading comprehension

Directions: read the following passage and select the choice (), (Y), (Y) or (£) that best answers each question. then mark the

correct choice on your answer sheet.

Regular exercise may offer some protection against Alzheimer’s disease, even for people who are genetically at risk,
according to recent research, in the study published in the journal of Alzheimer’s disease, People who did more moderate-
intensity physical activity were more likely to have healthy patterns of glucose metabolism in their brains — a sign of healthy
brain activity — than those who did less. Light —intensity physical activity. On the other hand, was not associated with similar
benefits.

the study involved AY adults with an average age of 1¢, all of whom had at least one parent with Alzheimer's disease, at least
one gene variation linked to Alzheimer’s disease, or both. This put them at high risk for developing the disease themselves,
although none showed any cognitive important at the time of the study.

To illuminate the relationship between brain activity and exercise levels, everyone wore an accelerometer for a week to
measure their daily physical activity and received PET scans to measure glucose metabolism, which reveals neuron health and
activity, in several regions of the brain. For people with Alzheimer's disease, these regions tend to have depressed glucose
metabolism.

Researchers found that people who spent at least 1A minutes a day engaged in physical activity at a moderate level — the
equivalent of a brisk walk — had better glucose metabolism in all of those regions than those who spent less time doing so.
The amount of time spent being sedentary or doing less-intense physical activity (like slow walking) were not associated with
changes in any of the brain regions studied.

\+f-What is the passage mainly about? (iranarze.ir)

V) light-intensity versus moderate-intensity physical activity.

Y) relationship between regular exercise and Alzheimer’s disease.

¥) glucose metabolism in human brain.

t) people vulnerable to Alzheimer's disease.

y-&-all of the following are true about the people who participate in this study except they.................. (iranarze.ir)
V) All showed symptoms of cognitive impairment.

Y) Had at least one gene variation associated with Alzheimer's disease.

) All had an at least one parent with Alzheimer’s disease.

f) Had an average age of s¥.

y+#—Which of the following statements is true? (iranarze.ir)

V) people who walk briskly are more likely to suffer Alzheimer's disease than those who do not.

Y) people who are genetically at risk of Alzheimer’s disease should spend #A minutes a day doing physical activity.
v) people suffering from Alzheimer’s disease have diminished glucose metabolism.

t) people suffering from Alzheimer's disease should always wear an accelerometer.

y+¥-which of the following is closest in meaning to the word “sedentary” in paragraph ¥? (iranarze.ir)
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y) Exhausted Y) depressed ) Sick t) inactive

PART A: GRAMMAR & VOCABULARY

Directions: Choose the word or phrase (), (Y), (V) or (£) that best completes each sentence.

THEN MARK THE CORRECT CHOICE ON YOUR ANSWER SHEET.

\+A— The human psyche ..........c.ccvinvnnenns a powerful and at the same time delicate tool of perception and cognition.

V) Which is Y)is ) that it is f)itis

\+4— Repression is probably ...........ccccvviiiiiiinnnes psychological defense mechanism, underlying all the others.(iranarze.ir )
V) Most of all widespread Y) most of the widespread of

¥) The most widespread t) the most widespread of

Yo et the phrase "mass extinction" definitely sounds alarming, it is not something uncommon for

our planet. (iranarze.ir)
V) Although Y) despite ) In addition to t) however
\\\-photographers in the nineteenth century were anxious to findaway ..................... movement, almost from the

moment they discovered the art of photography. (iranarze.ir)

V) To be captured Y) to capturing Y) Being captured f) to capture

\\Y-because there have been threats made against the prince, a team of bodyguards ..................... him wherever he goes.
\) Accompany Y) endorse ¥) Promote f) release

11\Y- Nothingismore ........ccoveiiiiiiiiininnnnnns to a mother than her children, and she will always choose to protect them

over anything else. (iranarze.ir)

V) Ridiculous Y) precious ) Suspicious f) prosperous

NF-The cooriiiiiiiciiceeaes of the digital camera has completely changed the nature of popular photography.

V) Emergence Y) residence Y) Persistence f) coincidence

118- Doctors frequently .........oceviiiniinnnann. Of their patients eating unhealthy and exercising infrequently since it can lead

to medical problems. (iranarze.ir)
\) Boast Y) conceive Y) disapprove Y) accuse
PART B: READING COMPREHENSION

Directions: read the following passage and select the choice (), (Y), (¥) or (¢£) that best answers each question. then mark the

correct choice on your answer sheet. (www.iranarze.ir)

Mechanical engineer Gottlieb Wilhelm Daimler became a major figure in the early history of the automotive industry. Making
guns was his first vocation, and he showed marked talent, but he abandoned the trade to go to engineering school, studying
in Germany, England, and France. In Germany he worked for various engineering and machining concerns, including the firm
that much earlier had employed Karl Benz. In YAVY Daimler became technical director in the firm of Nikolaus A. Otto, the man

who stationary gasoline engines. During the next decade, important work was done on the four-stroke engine.
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Daimler brought in several brilliant researchers, among them Wilhelm Maybach, but in YAAY both Daimler and Maybach
resigned because of Daimler’s conviction that Otto did not understand the potential of the internal-combustion engine. They
set up a shop and built an air-cooled, one-cylinder engine in YAA0. The first high-speed internal-combustion engine, it was
designed to run at 4. - revolutions per minute (rpm). For comparison, Benz's first tricycle engine had operated at only Yo
rpm. Daimler and Maybach used one of their early gasoline engine on a wooden bicycle fitted with an outrigger, which first
ran on Nov. \ -, YAAC. This may have been the first motorcycle in the world. The next year the first Daimler four-wheeled road

vehicle was made a horse drawn carriage modified to be driven by a one-cylinder engine.

\\#-what is the passage mainly about? (iranarze.ir)

V) Gottlieb Daimler’s competition with Karl Benz. Y) Gottlieb Daimler’s Effort in the automotive industry.
) History of the automotive industry. ¥) The automotive industry in the Yath century.
1\Y-According to the passage, Daimler Studied in all of the following countries except...........ccceeuerunes. (iranarze.ir)
\) France Y) Germany v) England ) Italy

V\A-what was invented on Nov. \+, YAAA? (iranarze.ir)

V) The first Tricycle engine Y) The first motorcycle

¥) a four-wheeled road vehicle f) a wooden bicycle

1Y4- Who does the word "They" in paragraph Y refer to? (iranarze.ir)
V) Brilliant researchers Y) Daimler and Otto

¥) Maybach and Otto t) Daimler and Maybach
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